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ED-2645(S)

B.Sc./B.Sc. B.Ed (Part–I) 

Suppl. EXAMINATION, 2021
CHEMISTRY

Paper First

(Inorganic Chemistry)

Time : Three hours

Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 
djuk vfuok;Z gSA 

Attempt all the five questions. One question from

each Unit is compulsory. 

bdkbZ–1

 Unit–1

1. ¼v½ 36Kr ds vafre e– ds fy, pkjksa DokaVe la[;k fyf[k,A 1

Write all four quantum number for last e–  of 36Kr.

¼c½ JksfMatj rjax lehdj.k fy[kdj Y o Y2 dk HkkSfrd egÙo
le>kb,A 3

Write Schrodinger equation and explain physical

significance of  Y and Y2.

¼l½ gkbtsucxZ ds vfuf'prrk fl)kUr dks le>kb,A 3

Explain uncertainty principle of Heisenberg. 

vFkok 

OR

¼v½ ijek.kq Øekad 27 ds fy, bysDVªkfud foU;kl fyf[k,A 1

Write electronic configuration for atomic number 27.

¼c½ bysDVªku ca/kqrk D;k gS \ bldh vkofrZrk o izHkkfor djus okys
dkjdksa dk o.kZu dhft,A 3

What is electron affinity ? Write its periodicity and

factors affecting it.

¼l½ izHkkoh ukfHkdh; vkos'k ls vki D;k le>rs gks \ vkoj.kh
fLFkjkad Kkr djus ds fy, LysVj dk vkuqHkkfod fu;e
fyf[k,A 3

What do you mean by effective nuclear charge ?

Write Slater’s empirical rule for calculation of

Shielding Constant.

bdkbZ–2

 Unit–2

2. ¼v½ /kzqo.k 'kfDr dks ifjHkkf"kr dhft,A 1

Define Polarizing Power.
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¼c½ v/kZpkyd dh mi;ksfxrk ij laf{kIr ppkZ dhft,A 3

Discuss application of semiconductor in brief. 

¼l½ Qt+ku fu;e ij fVIi.kh fyf[k,A 3

Write note on Fajan’s Rule.

vFkok 

OR

¼v½ LiCl dkcZfud foyk;dksa esa ?kqyu'khy gksrk gS \ D;ksa \ 1

LiCl in soluble is organic solvent. Why ?

¼c½ ty ;kstu ÅtkZ D;k gS \ ;g foys;rk dks fdl izdkj izHkkfor
djrh gS \ 3

What Hydration Energy ? How does it affect

solubility ?

¼l½ f=kT;k vuqikr fu;e dh lhek,¡ fyf[k,A 3

Write limitations of radius ratio rule.

bdkbZ–3

 Unit–3

3. ¼v½ CO2 v.kq ds fy, f}/kqzo vk?kw.kZ dk eku fyf[k,A 1

Write dipole moment for CO2 Molecule.

¼c½ ijek.koh; d{kdksa ds js[kh; la;kstu }kjk vkf.od d{kdksa dk
fuekZ.k le>kb;sA 3

Explain formation of moleculars orbitals by linear

combination of atomic orbitals.

¼l½ H3O
Å  o PCl3 v.kq esas ladj.k crkb;sA 3

vFkok 
OR

¼v½ SF6 esa dkSu&lk ladj.k ik;k tkrk gS \ 1

Which hybridization is present in SF6

¼c½ la;kstdrk ca/k fl)kUr o vkf.od d{kd fl)kUr dh rqyuk
dhft,A 3

Give comparisons between valence Band theory and

Molecular Orbital Theory.

¼l½ F2 v.kq ds fy;s vkf.od d{kd ÅtkZ vkjs[k cukb;sA 3

Draw Molecular Orbital Energy Level diagram for F2

Molecule.

bdkbZ–4

 Unit–4

4. ¼v½ cksjksu lewg ds rRoksa ds vkDlkbMksa ds LoHkko ij laf{kIr fVIi.kh 
fyf[k;sA 2

Write short notes on the nature of Oxides of elements

of Boron family.

¼c½ varjk gSykstu ;kSfxdksa dh lajpuk le>kb;sA 2

Explain structure of Interhalogen compound. 

¼l½ lewg 15 ds rRoksa esa vfØ; ;qXe izHkko ij fVIi.kh fyf[k;sA 2

Write short note of Inert pair effect of element of

group 15.

vFkok 
OR
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¼v½ QqYysjhu dh lajpuk o vuqiz;ksx fyf[k;sA 3

Write structure and application of Fullerene.

¼c½ yhfFk;e /kkrq dk vU; {kkj /kkrqvksa ls vlaxr O;ogkj
le>kb;sA

Explain anomalous behaviour  of Lithium metal from 

the Alkali Metals.

 bdkbZ–5

 Unit–5

5. ¼v½ mRÑ"V xSlksa }kjk DysFkjsV ;kSfxdksa dk fuekZ.k dSls gksrk gS \ 2

How does Clathrate compounds formed by inert

gases ?

¼c½ vdkcZfud fo'ys"k.k esa foys;rk xq.kuQy dk egÙo crkb;sA 2

Give significance of solubility product in Inorganic

analysis.

¼l½ XeOF2 dh lajpuk le>kb;sA 2

Explain structure of XeOF2 molecule.

vFkok 

OR

¼v½ O;frdkjh ewyd fdls dgrs gSa \ budk fu"dk"ku f}rh; lewg
ds i'pkr~ D;ksa fd;k tkrk gS \ 2

What are interfering radicals ? Why are they removed 

after IInd group ?

¼c½ mRÑ"V xSlksa ds vk;uu foHko o bySDVªku ca/kqrk 'kwU; gksrh gS
D;ksa \
Ionisation potential and electron affinity of inert

gases are zero. Why ?

¼l½ prqFkZ lewg ds {kkjh; ewY;ksa dk vo{ksi.k {kkjh; ek/;e esa H2S

izokfgr dj fn;k tkrk g]S D;ksa \ 2

Fourth group basic radicals get precipitated in

Alkaline medium by passing H2S group. Why ?
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